

$$\begin{aligned}
 \textcircled{1} \quad h'(a) &= \lim_{x \rightarrow a} \frac{\sqrt{f(x)} - \sqrt{f(a)}}{x-a} = \lim_{x \rightarrow a} \frac{\sqrt{f(x)} - \sqrt{f(a)}}{x-a} \cdot \frac{\sqrt{f(x)} + \sqrt{f(a)}}{\sqrt{f(x)} + \sqrt{f(a)}} \\
 &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{(x-a) \cdot (\sqrt{f(x)} + \sqrt{f(a)})} = \lim_{x \rightarrow a} \left(\frac{f(x) - f(a)}{x-a} \cdot \frac{1}{\sqrt{f(x)} + \sqrt{f(a)}} \right) \\
 &= \left(\lim_{x \rightarrow a} \frac{f(x) - f(a)}{x-a} \right) \left(\lim_{x \rightarrow a} \frac{1}{\sqrt{f(x)} + \sqrt{f(a)}} \right) \\
 &= f'(a) \cdot \frac{1}{\sqrt{f(a)} + \sqrt{f(a)}} = \frac{f'(a)}{2\sqrt{f(a)}}
 \end{aligned}$$

$$\textcircled{2} \quad a) \quad \frac{d}{dx}(2x^5 - 7x^3 + x) = 2 \cdot 5x^4 - 7 \cdot 3x^2 + 1 = 10x^4 - 21x^2 + 1$$

$$b) \quad \frac{d}{dx} \sqrt{5x^2 + 1} = \frac{\frac{d}{dx}(5x^2 + 1)}{2\sqrt{5x^2 + 1}} = \frac{10x}{2\sqrt{5x^2 + 1}}$$

$$\begin{aligned}
 c) \quad \frac{d}{dx}(5x+1)\sqrt{x^4+3} &= (5x+1) \frac{d}{dx} \sqrt{x^4+3} + \sqrt{x^4+3} \cdot \frac{d}{dx}(5x+1) \\
 &= (5x+1) \frac{\frac{d}{dx}(x^4+3)}{2\sqrt{x^4+3}} + \sqrt{x^4+3} \cdot 5 \\
 &= (5x+1) \cdot \frac{4x^3}{2\sqrt{x^4+3}} + \sqrt{x^4+3} \cdot 5
 \end{aligned}$$

$$\begin{aligned}
 d) \quad \frac{d}{dx} \left(\frac{x^2 - 2x}{x^3 - 3} \right) &= \frac{(x^3 - 3) \frac{d}{dx}(x^2 - 2x) + (x^2 - 2x) \frac{d}{dx}(x^3 - 3)}{(x^3 - 3)^2} \\
 &= \frac{(x^3 - 3) \cdot (2x - 2) + (x^2 - 2x) \cdot 3x^2}{(x^3 - 3)^2}
 \end{aligned}$$

$$\begin{aligned}
 e) \quad \frac{d}{dx} \left(6x^3 - \frac{\sqrt{x}}{2x+1} \right) &= \frac{d}{dx} 6x^3 - \frac{d}{dx} \frac{\sqrt{x}}{2x+1} \\
 &= 18x^2 - \frac{(2x+1) \frac{d}{dx} \sqrt{x} - \sqrt{x} \frac{d}{dx} (2x+1)}{(2x+1)^2} \\
 &= 18x^2 - \frac{(2x+1) \cdot \frac{1}{2\sqrt{x}} - \sqrt{x} \cdot 2}{(2x+1)^2}
 \end{aligned}$$

$$\begin{aligned}
 ③ \quad \frac{d}{dx} x^2 \sin(x) \cos(x) &= \frac{d}{dx} (x^2) (\sin(x) \cos(x)) \\
 &= x^2 \cdot \frac{d}{dx} (\sin(x) \cos(x)) + \sin(x) \cos(x) \cdot \frac{d}{dx} x^2 \\
 &= x^2 \cdot \left[\sin(x) \frac{d}{dx} \cos(x) + \cos(x) \frac{d}{dx} \sin(x) \right] + \sin(x) \cos(x) \cdot 2x \\
 &= x^2 (\sin(x) (-\sin(x)) + \cos(x) \cdot \cos(x)) + \sin(x) \cos(x) \cdot 2x
 \end{aligned}$$

$$④ \quad a) \quad h'(x) = f'(x) + 2g'(x), \text{ so } h'(2) = 7 + 2 \cdot 5 = \underline{\underline{17}}$$

$$b) \quad h'(x) = f(x)g'(x) + g(x)f'(x)$$

$$h'(2) = 3 \cdot 5 + 4 \cdot 7 = 15 + 28 = \underline{\underline{43}}$$

$$c) \quad h'(x) = x^3 f'(x) + f(x) \cdot 3x^2, \text{ so } h'(2) = 2^3 \cdot 7 + 3 \cdot 3 \cdot 2^2 = \underline{\underline{92}}$$

$$d) \quad h'(x) = \frac{g(x) \cdot [x f'(x) + f(x) \cdot 1] - x f(x) g'(x)}{(g(x))^2},$$

$$\text{so } h'(2) = \frac{4 \cdot [2 \cdot 7 + 3] - 2 \cdot 3 \cdot 5}{4^2} = \frac{68 - 30}{16} = \underline{\underline{\frac{38}{16}}}$$

$$⑤ \quad v(t) = s'(t) = \underline{\underline{6t^3 - 6t + 2}}$$

$$a(t) = s''(t) = \underline{\underline{18t^2 - 6}}$$